Name ______________________                 Error Analysis                                 Date ___________   
Directions: Look at the following problem and determine whether the Forensic Anthropologist’s conclusion/thinking was correct or incorrect. Give a detailed explanation citing textual evidence or strategies to justify your determination of why the Forensic Anthropologist’s thinking was correct or incorrect. 

The Problem 
 A human skeleton is found and a Forensic Anthropologist is called to determine the age and sex of the skeleton.  The skull had rounded eye orbits, a square mandible, a thick large brow ridge, and no occipital protuberance. The suture in the lamboidal suture is closed but the coronal suture and sagittal suture remain slightly open. The pelvis has a 97° subpubic angle with a short, broad, curved inward sacrum.  Based on these characteristics, the Forensic Anthropologist determines this individual to be an approximately 35-40 year old male.





Was there an Error?  ________________________________________
________________________________________________________
________________________________________________________

 





Explain your thinking:  _____________________________________
________________________________________________________
________________________________________________________
________________________________________________________
________________________________________________________


 








Cite supporting evidence: ___________________________________
________________________________________________________
________________________________________________________
________________________________________________________
________________________________________________________

 








Name ______________________                 Error Analysis                                 Date ___________   
Directions: Look at the following problem and determine whether the Forensic Anthropologist’s conclusion/thinking was correct or incorrect. Give a detailed explanation citing textual evidence or strategies to justify your determination of why the Forensic Anthropologist’s thinking was correct or incorrect. 

The Problem 
 A human skeleton is found and a Forensic Anthropologist is called to determine the age and sex of the skeleton.  The skull had square eye orbits, a square mandible, a thick large brow ridge, and no occipital protuberance. The suture in the lamboidal suture and the coronal suture are closed, but the sagittal suture remains slightly open. The pelvis has a 73° subpubic angle with a short, broad, curved inward sacrum.  Based on these characteristics, the Forensic Anthropologist determines this individual to be an approximately 50 year old female.
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Was there an Error?  ________________________________________
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